Chapter 3   Fundamental Interpretations Made from Financial Statement Data

Solutions to Odd-Numbered Problems

	CHAPTER 3
	
	Fundamental Interpretations Made from 

Financial Statement Data




	E3.7.  
	 

	      a.
	              Amount of return                          $252                                 $306
ROI =    Amount invested         Nateisha: $2,800  =  9%        Tian: $3,600  =  8.5%

	
	

	
	Nateisha's investment is preferred because it has the higher ROI.

	
	

	b.
	Risk is a principal factor to be considered.


	E3.9.  
	

	
	Solution approach: Calculate the amount of return from each alternative, then calculate the ROI of the additional return from the higher paying investment relative to the $2,000 that must be invested to get the higher return.

	
	

	
	ROI * amount invested  =  amount of return.

	
	

	
	Alternative # 1   10%  * $5,000  = $500 return.
Alternative # 2   11%  * $7,000  = $770 return.

	
	

	
	The extra amount of return of $270 on an additional investment of $2,000 is an ROI of 13.5%.  ($270 / $2,000 = 13.5%).  Therefore, do not pay an interest rate of more than 13.5% to borrow the additional $2,000 needed for the higher yield investment.


	E3.11.   
	

	
	The following model can be used to help answer any questions related to ROI:

                      ROI                         =        MARGIN          x                  TURNOVER  

            NET INCOME                       NET INCOME                              SALES                          AVERAGE TOTAL ASSETS    =          SALES            x      AVERAGE TOTAL ASSETS            



	a.
	18% ROI =  12% Margin *  ($600,000 Sales / Average total assets)     

Average total assets  =  $400,000

	
	

	E3.11.
b.
	(continued)

ROI =  ($78,000 Net income / $950,000 Average total assets) = 8.2%
1.3 Turnover  =   (Sales / $950,000 Average total assets) 

Sales  =  $1,235,000

Margin = ($78,000 Net income / $1,235,000 Sales) = 6.3%
ROI  =  (6.32% Margin * 1.3 Turnover)  =  8.2%

	
	

	c.
	7.37% ROI  =  (Margin  * 2.1 Turnover)

Margin   =  3.5%


	E3.13.  
	

	
	Remember that "net assets" is the same as "stockholders' equity."

Beginning net assets





    $346,800

Add: Net income





        42,300

Less: Dividends





      (12,000)

Ending net assets





    $377,100
 

	
	ROE  =  Net income  /  Average stockholders' equity

=  $42,300  /  (($346,800 + $377,100) / 2)  = 11.7%


	E3.15.  
	

	a.
	                                                                                  Do Not Prepay               Prepay

                                                                               Accounts Payable      Accounts Payable
   Current assets



             $ 12,639                     $ 8,789

   Current liabilities



                (7,480)                      (3,630)
   Working capital



              $  5,159                     $ 5,159
   Current ratio


……….
                  1.69                          2.42

Payment of the accounts payable does not affect working capital, but does improve the current ratio. Is this balance sheet "window dressing" worth the opportunity cost of not being able to invest the cash?  Remember, once the payment is made, the cash is in someone else’s hands. 

	
	

	b.
	                                                                                Without Loan             With Loan
  Current assets



            $ 12,639                    $ 17,639

  Current liabilities



                (7,480)                    (12,480)
  Working capital



             $  5,159                     $  5,159 
  Current ratio



………                   1.69                           1.41
If the loan is taken after the end of the fiscal year, the current ratio on the year‑end balance sheet will be higher than if the loan is taken before the end of the year.  Working capital is not affected.  Thus, it makes sense to wait until after the end of the year to borrow on a short-term basis, unless cash is needed immediately. 


	P3.17.
	

	a.
	ROI = Margin * Turnover
        = (Net earnings attributable to Campbell Soup Company / Net sales) 
           * (Net sales / Average total assets)

        = ($805  /  $7,719) * ($7,719  /  (($6,276 + $6,862) / 2))

        = (10.4% Margin * 1.18 turnover)  =  12.3%


	b.
	ROE = Net earnings attributable to Campbell Soup Company / Average shareowners' equity

         = $805  /  (($926 + $1,088) / 2) =  79.9%



	c.
	Working capital = Current assets - Current liabilities

                                                                                                       7/31/11         8/1/10
 Current assets





        $1,963         $1,687   

 - Current liabilities





          1,989           2,065 

= Working capital





        $   (26)       $   (378)

	
	

	d.
	Current ratio = Current assets / Current liabilities

                                                                                                       7/31/11         8/1/10
 Current assets




………        $1,963         $1,687  

 / Current liabilities




………          1,989           2,065
= Current ratio





………            0.99             0.82       

	e.
	Acid‑test ratio = (Cash + Short‑term securities + Accounts and Notes receivable)
                                                             Current liabilities                 

                                                                                                    7/31/11         8/1/10                                                 
Cash and cash equivalents



………     $   484         $   254
Accounts receivable





          560              512
Total (quick assets)




………     $1,044         $   766
   Total (quick assets)




………     $1,044         $   766    

 / Current liabilities





       1,989           2,065
= Acid‑test ratio





         0.52             0.37


	P3.19.
	

	a.
	Working capital = Current assets - Current liabilities              

                                                                                                                   1/31/14    1/31/13
   Current assets






          $ 14        $ 18

 - Current liabilities






             (9)          (6)
= Working capital






          $   5        $ 12
Current ratio = Current assets / Current liabilities

                                                                                                                   1/31/14    1/31/13
   Current assets






           $ 14        $ 18
 / Current liabilities






               9             6

= Current ratio






………          1.56        3.00  

	
	

	b.
	Even though the firm has more cash at January 31, 2014, it is less liquid based on the working capital and current ratio measures.  The firm owes more on accounts payable, and has less inventory to sell and fewer accounts receivable to collect, as compared to January 31, 2013.

	
	

	c.
	Accounts receivable were collected, inventories were reduced, and current liabilities increased.  These changes all have a positive impact on cash, which are not reflected in a net loss because changes in a firm's cash position and its profitability are not directly related under accrual accounting.


	P3.21.
	

	a.
	15% ROI =  (Margin  *  2.0 Turnover)

Margin required as a manufacturer =  7.5%

2.0 Turnover =   (Sales  /  $6,000,000 Average total assets)

Sales required as a manufacturer =  $12,000,000
7.5% Margin =   (Net Income  /  $12,000,000 Sales)

Net Income required as a manufacturer =  $900,000 (or $0.9 million)



	b.
	15% ROI =  (Net Income  /  $1,000,000 Average total assets)

Net Income required as a service firm =  $150,000
15% ROI =  (2.5% Margin * Turnover)
Turnover required as a service firm =  6.0

6.0 Turnover =  (Sales  /  $1,000,000 Average total assets)

Sales required as a service firm =  $6,000,000 (or $6 million)
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